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Grefl &1 faum feaied siied. U faur A 31U IR PRUIR 318,

T A Qe a3 Ryl goar=an S HauHT qurimEiET G Sl
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A Glglel A 10T R & 31Ed 31U R € A 9 SRIaR LPIH0] 318,
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A A>C>=B>=D=>E

Question:

B A>B=C=>=D=E
C A>C=B=>=E=>=D
D A>B>C>E>D

Q:70
Topic Name:Chemistry-Section A

ItemCode:1670
728 T e ST B 8T S oo anfeh
Pb(NO; |, — 2% 5 A+ PHO+0,
Question: A _ Dimerise  p

A 0
B 1



[ B

C
D 3

Q:71
Topic Name: Chemistry-Section A

ItemCode:1671

Question:

A 1\.!3—
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B GGl A 31U R WX ST6d UUT R § A d SRR P60 181,
C AT B UNRTIC AR,
D A WI¢ 3§ UUIR G HE.

Q:73
Topic Name:Chemistry-Section A

ItemCode:1673
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A Gglel A 10T R & 31Ed U R € A 9 SRIaR LPIH0] 378,
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D A WI¢ 3§ UUTR T B,

Q:74
Topic Name:Chemistry-Section A

ItemCode:1674
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A Ofﬁr
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e sifiepda fHuEa s5ite
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(i) 2Mg. THF
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ZA —= C
(i) THYTEE ==

(iii) H,O / H i

Question: ¥ Y =Hd

A dfyasEEs

B g deE

C Yl gldare siHgs

D fHyEd dHES
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Question: |G SHTHICHAT SHAT=AT I HI0TCH FuTell TR Hed ITe AR

A O

(a) CgHs H + CH3;MgBr  (b) Na,Cr,0,, H*
B 0

(a) HyC H + CgHsMgBr  (b) PCC, DCM

0
ct,u_i)Ku-';jn5 + 2 CH;MgBr
D 0

CGHSJJ\ Cl + CH;MgBr + CdCl,
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